= W
3 QO
S =
S
—
@)
o)
<
3
S
(e
°
I
L
.
=
(=}
=
5
=
—
N
=°]
—(
o
=
(=)
@)

Baritone Sax

O 4t

./

IS E— —

i /1
-

0 ey f
T

P A Dl ]
hal

O out.
o AT

“

O out.

Refrain 1

(7K

T
P

_

Pré-Refrain 1

A e

P A I

11

A A A A, A

O ut.

16

O 4t
P DT ]

21

Hout.

T

o AT
b TV Y]

26

y 4%

~—
nf

IAY

Couplet 2

31

Pont

O out.

50

NS—— —

o AT

IS S —

O out.
P DT ]

41

Y

Ot

A - I

46




—

Labrador

A I

Pré-Refrain 2

O uf.
P A D]

61

>

Refrain 2

Ot

66

A - D)

\ &

oA TV ]

= -

>

O out.
o AT

71

4y

S

)
=
=

N

=M

= | H
n
NP
j =
=%

(

Ly

e

=

v

e

Pré-Refrain 4

O ut.

86

o AT

Coda

O ut.

91

~t

(TN

.

M/

A

| X

M/

TTeA

M/

Pan

>

>

e
1

fe o e

eee

96

gt = F

101

o AT
ho i _ V)




